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(@) To prevent vigorous / uneven boiling / bubbling 1 Allow 'so the liquid does not jump / spit'
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(b) Allows vapour to escape 1 Allow ‘prevents an explosion / apparatus will fly apart / stopper
will come out / prevents build up of pressure’

Ignore references to a hole for the thermometer.
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(d) | Boiling point varies with pressure | Allow fair comparison with a data book value.
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(e) Many compounds have the same boiling point 1 Do not allow ‘an inaccurate boiling point”
Ignore ‘boiling point was not obtained at standard pressure’.
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